VYRAZY A ROVNICE

1. Zjednoduste, aby vyraz neobsahoval zavorky

HERTE
1.3.(2a—1)-(B3a—4) =

1.4.(§+ 1) : (g— 1)=

152 (a+1)-(1-2a)+a-(a—2) =
16.(a+1)-(3—2b) + 2ab =
1.7.n-(%m+n) + 2n-(—im +%n2) =
1.8.(1+3b)-(1+3b)—3b-(2+3b) =

1.9.(a+%b)-(a+%b)—3b-(a+%b) =

1.10. —2aa—=3b-2b+2-(a+1)-a=
1.11. (4x +1) - (4 — 1) + 4 - (5 — 4x) =
1.12. (x+2)P—-(x—2)=

x 2 1\2
1.13. 3-(5+3) —2-(x—5) -
1.14. (2x = 5) - (2x +5) — (2x + 5)?

x | 4\2
1.15. (g n 5) -
1.16. 5a-(0,4b + 0,25a)? =
1\2 2

1.17. (3x—§) —9x-(x—§) =
1.18. (2"2“) 4x — 22 =
1.19. (—2a)? — (4a)? % =

_ 2, 3a (7 1\ _
1.20. (05— 0,5a)? +2 .(8 2) -
2. Rovnice

2.1. 5x—%= 7,5 —3x




4 3 \4
3x 2 7
27.=+2=2
4 + 5 5
x+4 x—1 x+4
28 -+ ="

29. 2(2x + 3) = 8(1—x)—5(x —2)

5x-4  16x+1

2.10.
2 7
2.11. 0,3x — i =0,7x 4+ 0,75
3-2y _ 2y-1 2y+4
2.12. = 2
3 5
2.13. (3x-3)x-D=06x-1(x-3)
2.14. (x+4)(x+1)—4(x+§) = (x — 4)?
2.15. 3x—-54+2(1—x)=—-(x+2)
i3
2.16. A
3 6 12
X 5 6
2.17. Z42=2
2.18. 4x—1 2= f 442x




